Dominio e limiti
Periodo 3 - UdA 3

Rappresentare graficamente le seguenti funzioni
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ELEMENTI PER IL GRAFICO
Dominio e limiti  Periodo 3 - UdA 3

dim_ flz)=-00  lm flz)=+o0 f(0)=0 lm f(z)=-oco lm f(z)=+oco lim f
f(=3)=0 lim f(z)=+co lim f(z)=-c0 [f(2)=0 lm flz)=-o0 lm f(z)=
lim f(z) = —o0  lim f(z) =+o0 [(=2)=0 [f(0)=-1 f(2)=0 Ilm flz)=
111r£1+ flz) = —o0 li_>m flz)=-3
Aim_f(z) = —co lm f(z) = 400 f(-2) =0 lim f(z) = +oo lim f(z) =
fO0)==2 lm f(z)=-2
f(=2)=0 lim flz)=+oc0 lim f(z)=-co lmf(zr)=-00 f(1)=0 lm f(z)=
f0)=0 lmflz)=+c0 f(2)=0 lim f(z)=-co  lim flz)=-+oco
lim f(z) =—oc0  lim f(z)=+4c0 f(-2)=0 f(-1)=0 f(0)=0 Ilm f(z)=
lirgl+ flz) = —00 h_)ngo flz) = —o0

F(=2)=0 f(=1)=0 f(0)=0 lim f(z)=+4o00 lim f(z)=—oc
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